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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2019 

 

Subject Name:  Mechanics of Structures     
 

Subject Code:  2TE03MST1    Branch: Diploma (Civil) 
    

Semester : 3          Date : 22/11/2019    Time : 02:30 To 05:30    Marks : 70 
 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  1 Pa =...............N/mm
2
 

A) 1        B) 50        C)9.81               D)1૦૦  

(1) 

 b)  The power of resisting material deformation is called .............. 

 

A) Perseverance   

B) toughness  

C) Strength   

D) Brittleness 

(1) 

 c)  Volumetric strain generated by placing the axis on a rectangular 

transverse object. 

A) ε (1 – 2/m)     B) ε (1 + 2/m)      C) ε (2 - 1/m)        D) ε (2 + 1/m)           

(1) 

 d)  By increasing the temperature of the free rods at the end, they produce 

......... reflections. 

A) compression       B) tension        C) shear                 D) zero 

(1) 

 e)  A place of beam where shear force is zero and bending moment 

is…………… 

A) zero         B) maximum           C) minimum          D) infinite 

(1) 

 f)  Potion ratio = …………. 

A) stress / strain 

B) linear strain / strain          

C) lateral strain / linear strain       

D) shear stress / shear strain 

(1) 

 g)  The cantilever beams ................ on the free end of the beam. 

A) zero B) maximum C) minimum D) infinite 

(1) 

 h)  The deflection point is usually made up of .............. beams. 

A) Cantilever beam 

B) Simple takeaway beam 

(1) 
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C) overhanging beam 

D) Infinite 

 i)  If M = bending f = bending reflection and Z = section modulus, which 

relation is correct? 

A) f = M.Z         B) f = M/Z          C) f = Z/M       D) અનતં 

(1) 

 j)  The two main planets make a ................ angle between each other.A) 

180
0
       B) 45

0
          C) 90

0
        D) 135

0 
(1) 

 k)  A normal stress on a diagonal plane of an object σn tangential stress σt 

than  σr  resultant stress …………… 

 

A) σr = σn
2
 + σt

2
          

B) σt = σr
2
 + σn

2
           

C) σr
2

 = σn
2 
+ σt

2
  

D) σr
2

 = σn
2 
+ σt

2
 

(1) 

 l)  Breaking Stress ______ Ultimate Stress  

(A) equal to         (B) Less than        (C) greater than    (D) એક પણ નહિ 

(1) 

 m)  The stress on the neutral line is ………………  

(A.) Zero 

(B) Maximum Tensile  

(C) minimum Tensile  

(D) Maximum Compressive 

(1) 

 n)  If only shear stress is felt on an element than The main plane at which 

angle lies……………. 

A) 180
0
       B) 45

0
          C) 90

0
        D) 135

0
 

(1) 

 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (A) A mild steel road having 1.5 m length 12 mm diameter. 30 kN axial pull 

force acting on it. find stress, strain elongation of the bar. E= 2 x 10
5
 

N/mm
2
 

(7) 

 (B) A Mild steel is 1.5m long and 20mm in diameter with an axial pull force 

of 100 kN, find stress, strain elongation of the bar 

E = 2 x 1૦5 
 N/mm

2  

(7) 

    

Q-3  Attempt all questions (14) 

 (A) Explain principle of superposition of force with neat sketch. (7) 

 (B) Explain stress, strain diagram of mild steel with diagram.  (7) 

    

Q-4  Attempt all questions (14) 

 (A) A beam having rectangular section 300 mm x 600 mm and length is 

4.5m. at center of beam 50 kN point load acting. Find bending stress of 

C/S of beam. 

(7) 

 (B) A beam of wood is 200mm wide and 300mm deep with a simply 

supported over a span of 4m. If the beam bending stress in the beam does 

(7) 
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not increase by 8 N / mm
2
, find how much more uniformly the beam can 

carry the maximum load. 

    

Q-5  Attempt all questions (14) 

 (A) Explain various type of beam and load in detail (7) 

 (B) A simply support of ABCD beam at A and D, which is 4m in length. At 

this point beams B and C, which are at a distance of 1m and 2.5m from 

support A, carry 12kN and 18kN respectively. Draw bending moment 

diagram and calculate bending moment. 

(7) 

    

Q-6  Attempt all questions (14) 

 (A) A cantilever beam of span 3.0 m is carried u.d.l. of 40 kN/m for entire 

span. Cross section of beam is 200 mm x 400 mm. Draw a shear stress 

distribution diagram for maximum shear force. 

(7) 

 (B) Write difference between welded joint and bolted joint. (7) 

Q-7  Attempt all questions (14) 

 (A) A cantilever beam of 1.75m span is subjected to an UDL of 75KN/m 

over entire span and a point load of 50 KN at free end. Find slope and 

deflection at free end. Take EI = 12 x 1013 N.mm2 .
 

(7) 

 (B) Explain core of kernel for different section. (7) 

    

Q-8    

  Derive equation M/I = f/y = E/R.  write maximum bending moment 

different type of load acting on beam.  
 

 

 

 

 

 

 

 

Q-1  Attempt the following questions: (14)  
 a)  1 Pa =...............N/mm2 

A) 1        B) 50        C)9.81               D)1૦૦  

(1) 

 b)  ભટીરયમરની વલરુ઩ણનો પ્રવતકાય કયલાની ળક્તત ન ે..............કહ ેછે. 
A)દ્રઢતા        B) સખતાઈ        C)ભજબતુાઈ         D)ફયડતા  

(1) 

 c)  રફંચોયસ આડછેદલા઱ા ઩દાથથ ઩ય અક્ષિમફ઱ રગાડતા ઩દેા થતી લોલ્ુભંરેિક સ્ટ્િેઇન  
A) ε (1 – 2/m)     B) ε (1 + 2/m)      C) ε (2 - 1/m)        D) ε (2 + 1/m)           

(1) 

 d)  ફન ેછેડે મતુત સ઱ીમા નુ ંતા઩ભાન લધાયતા તભેા.ં........ પ્રવતફ઱ ઩દેા થામ છે. 
A) દાફ         B) તાણ          C) કતથન       D) શનૂ્મ 

(1) 
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 e)  ફ઱ભા ંજે સ્ટ્થાન ઩ય કતથન્ફ઱ શનૂ્મ હોમ તમા ંનભનધણુથ.............હોમ છે 

 A) શનૂ્મ         B) ભહત્તભ          C) ન્્નુતભ       D) અનતં  

(1) 

 f)  ઩ોઇળન યેવળમો એટરે  
A) પ્રવતફ઱ / વલકાય          

B) યૈક્ષખક વલકાય / વલકાય          
C) ઩ાર્શ્થ વલકાય / યૈક્ષખક વલકાય        
D) કતથન પ્રવતફ઱ / કતથન વલકાય 

(1) 

 g)  કેન્ટીરીલય ફીભના મતુત છેડા ઩ય નભનધણુથ ................હોમ છે. 
A) શનૂ્મ         B) ભહત્તભ          C) ન્્નુતભ       D) અનતં  

(1) 

 h)  પ્રવતનભનક્ષફિંદુ સાભાન્મ યીત ે.............. ફીભભા ંફન ેછે. 
A) કેન્ટીરીલય ફીભ    

B) સાદીયીતે ટેકલરે ફીભ        

C) ઓલયહને્ગીંગ ફીભ       

D) અનતં 

(1) 

 i)  જો M = નભનધણુથ f = નભન પ્રવતફ઱અન ેZ = સતેળન ભોડયરુસ હોમ તો કમો સફંધં ફયાફય 
છે? 

A) f = M.Z         B) f = M/Z          C) f = Z/M       D) અનતં  

(1) 

 j)  ફ ેમખુ્મ સભતરો એકફીજા લચ્ચ ે................ ખણૂો ફનાલ ેછે. 
A) 1800       B) 450          C) 900        D) 1350 

(1) 

 k)  કોઈ એક ઩દાથથના ત્ાસંા સભતર ઩ય રાગતુ ંરફં પ્રવતફ઱ σn  સ્ટ્઩ળીકીમ પ્રવતફ઱ σt  હોમ ટો 
઩રયણાભી પ્રવતફ઱ σr, 

A) σr = σn
2 + σt

2          
B) σt = σr

2 + σn
2           

C) σr
2
 = σn

2 + σt
2  

D) σr
2
 = σn

2 + σt
2 

(1) 

 l)  બ્રરેકગ સ્ટ્િેસ ______અલટીભટે સ્ટ્િેસ 

 (A) equal to         (B) Less than        (C) greater than    (D) None of these 
(1) 

 m)  તટસ્ટ્ત યેખા ઩ય સ્ટ્િેસ .................. હોમ 

 (A.) Zero 

(B) Maximum Tensile  

(C) minimum Tensile  

(D) Maximum Compressive 

(1) 

 n)  જો કોઈ એક્ષરભને્ટ ઩ય ભાત્ ળીમય સ્ટ્િેસ રાગે તો મખુ્મ સભતર .............ખણૂ ેઆલ઱ેુ ંહોમ છે. 
A) 1800       B) 450          C) 900        D) 1350 

(1) 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 (A) 1.5 m ની રફંાઈ અન ે૧૨ mm વ્માસ લા઱ા એક ઩ોરાદ ના સક્ષ઱મા ઩ય ૩૦ k N  નુ ંઅિમ તાણ 

ફ઱ રાગે છે, સક્ષ઱મા ઉત઩ન્ન થતુ ંપ્રતીફ઱ વલકાય અન ેરફંાઈ ભા ંથતો લધાયો ળોધો.  E = 2 x 
1૦5  N/mm2 

(7) 

 (B) મદુૃ ઩ોરાદ નો એક સ઱ીમો 1.5 m રાફંો અન ે૨૦ mm વ્માસ નો છે જેના ઩ય 100 kN નુ ંઅિમ 
ખચેાણ ફ઱ રાગે છે, પ્રવતફ઱ વલકાય અન ેઅંવતભ  રફંાઈ ળોધો. 
E = 2 x 1૦5  N/mm2  

(7) 
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Q-3 

  

 

Attempt all questions 

 

 

(14) 
 (A) ફ઱ો ના પ્રતમાયો઩ણ નુ ંવનમભ આકૃવત દોયી ન ેસભજાલો. (7) 

 (B) ભાઈલડ  સ્ટ્ટીર નો પ્રવતફ઱ વલકાય નો ડામાગ્રાભ દોયી સભજાલો.  (7) 

    

Q-4  Attempt all questions (14) 
 (A) 4.5 m રફંાઈ ના સાદા ટેકલરે ફીભ ભાટે ૩૦૦ mm  x ૬૦૦ mm ભા઩ નો રફંચોયસ આડછેદ 

ધયાલ ેછે. ફીભ ની ભધ્મ ભા ં50 kN નો ફીન્દુબાય રાગે છે, આડછેદ ભા ંઉત઩ન્ન થતુ ં ભહત્તભ નભન 

પ્રવતફ઱ ળોધો.   

(7) 

 (B) એક રાકડા નો ફીભ 200 mm ઩હો઱ો અન ે૩૦૦mm ઊંડો 4m ના ગા઱ા ઉ઩ય સાદી યીતે ટેકલરે 

છે. જો ફીભ ભા ં નભન પ્રવતફ઱ 8 N/mm2 થી લધ ેનરહ ત ેયીતે  ફીભ  લધ ુભા ંલધ ુકેટરો 

સભલીતયીત બાય  રઇ સકળે ત ેળોધો.    

(7) 

    

Q-5  Attempt all questions (14) 
 (A) ફીભ ના પ્રકાય તથા બાય ના પ્રકાય વલસ્ટ્તતૃ ઩ણ ેસભજાલો. (7) 

 (B) એક સાદી યીત ેટેકલરે ABCD ફીભ ના સાદા ટેકા A અન ેD ઩ય છે જેની રફંાઈ 4m છે આ ફીભ 
ઉ઩ય ક્ષફિંદુ B અન ેC જે ટેકા A થી અનકુ્રભ ે1m અન ે2.5 m ના અંતયે છે, તનેા ઩ય ફીન્દુબાય 
અનકુ્રભ ે12 kN અન ે 18kN લાહન કયે છે.પતત નભનધણુથ ની  ગણતયી કયી નભનધણુથ  નો  આરખે 
દોયો.  

(7) 

    

Q-6  Attempt all questions (14) 
 (A) 3.0 m રાફંા એક કેન્ટીરીલય ફીભ ઉ઩ય  40kN/m નો સમ્લીતરયત બાય રાગે છે. ફીભ ના 

આડછેદ નુ ંભા઩ 200 mm x 400 mm છે. ફીભ ના આડછેદ ભા ંભહત્તભ કતથનબાય ભાટે કતથન 
પ્રવતફ઱ વલતયણ આરખે દોયો.  

(7) 

 (B) વેલ્ડેડજોઈન્ટ અને બોલ્ટેડજોઈન્ટ વચ્ચે તફાવત લખો. (7) 

Q-7  Attempt all questions (14) 
 (A) 1.75 m ગ઱ાલા઱ા એક  કેન્ટીરીલય આખા ગા઱ા  ઩ય 75 kN/m નો સભવલતરયત  બાય રાગે છે . 

તભેજ ફીભના મતુત છેડા  ઩ય  50kN  નો  ફીન્દુબાય રાગે છે . ફીભના  મતુત છેડા ઩ય ઢા઱ અન ે
વલચરન ળોધો. 
EI = 12 x 1013 N.mm2 

(7) 

 (B) જુદા જુદા સતેસન ભાટે કોય ઓપ સતેસન સભજાલો (7) 

    

Q-8    
  ફનેન્ડિંગ નુ ંસતુ્ M/I = f/y = E/R તાયલો. અન ેફીભ ઩ય રાગતા જુદા જુદા પ્રકાય ના રોડ ભાટે 

ભહત્તભ ફનેન્ડિંગ ભોભને્ટ નુ ંસતુ્ રખો. 

 

 


